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QUESTION 1

What are the components of a custom text analysis? 

Note: There are 3 correct answers to this question. 

A. Rule set 

B. Python script 

C. Term Document Matrix 

D. Dictionary 

E. Configuration 

Correct Answer: ADE 

 

QUESTION 2

A calculation view includes a rank node that uses the source data and settings shown in the graphic. Your query
requests all columns of the rank node. How many rows are in the output of your query? 

A. 6 

B. 9 

C. 2 

D. 5 

Correct Answer: B 
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QUESTION 3

Which of the following are warm tier Solutions? Note: There are 3 correct answers. 

A. Active / active read-enabled mode 

B. Native Storage Extension 

C. Extension Node 

D. Dynamic Tiering 

E. Persistent Memory 

Correct Answer: CDE 

 

 

QUESTION 4

You created a table function to remove previous records, sum the current total weekly working hours for each employee,
and updated the personnel table. The build of the table function fails. Which of the following could be a valid reason? 

A. You did NOT define a valid table type. 

B. Your function refers to a scalar function. 

C. You did not define at least one input parameter. 

D. Your function includes a TRUNCATE statement 

Correct Answer: D 

 

QUESTION 5

How can you optimize performance when writing SQL for use with calculation views? 

Note: There are 2 correct answers to this question. 

A. Use declarative language instead of cursors 

B. Use calculation engine (CE) functions instead of plain SQL 

C. Control the flow logic using IF-THEN-ELSE conditions 

D. Increase parallelization by using variables to break up statements 

Correct Answer: AD 
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